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Question No. 20

- K
The thickness of 2 1200-page book is about 1.9 inches. The thickness of a single s
estimated as:

heet of this book can
=

-~ 0.08 mm
0.01 mm
0.8 mm
0.04 mm
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Faking

] SKnificant Iqures into daccount,

VISIONn of 20 by 30 0 IS correctly written As
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QuesHion No. 18 nnn

Vectors A and B are the horizontal and vertical components for vector C. The magnitude of C is
N

A\
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Two forces are: (F1 =55 N, west) & (F2 = 33 N, north). The magnitude of their resultant (R)is:
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»

Question o,z KSR ~ |

Three forces are: (F1 =40 N. north), (F2 = 0, east) and (F3 = 50 N, north). Their resultant (R) i5

sm— = |
30 N, north-west
90 N, south
30 N, north-east ; «o i
90 N, north o I
O\ £
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A quantity that requires both magnitude and direction is called:

speed
scalar
mass

vector
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Jueation No. 13

A length of 997 .8 mm is equal to:

0.09978 m
09978 m
99.78 m

9978 m
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Question No. 17 n

f the diameter of a human hair is 110 micrometers. this equals to

Hint: 1 mm = 10

= 1000 micrometers)

0.11 mm __,) \

RN
0.0011 mm
0.011 mm \‘ o X
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Question No. 1

| The number of decimal places in (0.52) 15
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Question No. 8 n
e percent n the measurement 2252 0% 5
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Question No. 4 n “ l

Which of the followmnag numbers has three significant figures.

0220 35
220 L%'gr
0022 2 5%
0.2002 U §f}
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Question No. 25 nn

If ris a length, v /K + 1t is dimensionally correct if k has the dimension of

15 a speed and t is time, the equation v
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Radiation of cesium atoms



Radiation of cesium atoms 
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Question No. 6
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Question No, 2

LA ~ |

angle is correctly giver

Taking significant figures into account. the area ofa (2.5 cm x 2.0 cm) rect

a5
5.000 cm?’
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5.0 cm?




MKCL OES Physics_Quiz1_Sem1_2019

Total questions in exam: 25 | Answered. 12

Question No. 23

(A Ay
A 7.5-g diamond is weighed on a scale of 0.1-g smallest division. The weight that is correct ]
within the scale’s precision is:

6.7g
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Question No. 11

y )0 Car has an acceloration of 43 (km/hys

No. Unit

01 in»cm
02 cm—in
03 ft—+m
04 m—1t
05 yd»m
06 m—yd
07 mile—km

his equals

12 m?-acre
13 gallvs)~¢
14 (- gal(Us)
15 gal(UK)~/
16 £~gal(UK)
17 pe—km
19 km/h-mis
20 ws—km/h

22 goz
23 Ib—kg
24 kg-1b
25 atm~Pa
26 Pa—atm

Physics_Quiz1_Sem1_2019

31 kglemi~pa
32 Pa-kgtiem?
33 kgtm—g
34 J~xkgtm
35 Ibtlin2+kpa
36 kPa-Ibfin?
ST E %
38 C~F
39 J~cal
40 cal=J

fe-991ES PLUS
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Question No. 5§

Tou Dought a car for 90500 f
v

WAUDI riyals (SAR). In order-of-m pgnaude this price s at

u‘
SAR 10/ (,X \0
SAR 107 "
SAR 10¢ VN \O
Z\A >&

SAR 10° )
= k o
g2
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An average golar day has:
, 86400 hours
+ 86400 minutes
. 86400 geconds
86400 days
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Question No. 14 .

If r s a length A is an area and V is a volume, the equation A = r**/V is dimensionally correct if n equals:

s
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) |z oLyl
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When two vectors do not act in exactly the same or opposite direction, their :‘:,Z’n:: :::'::,:‘:
resultant can be found using: [ 24 O
o Mot Vared
* Right-hand theorem

¢ Area rule

2 3
* Parallelogram rule g =1l
 Circle rule
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Question No. 17
If e ks m Rength, A s an aren and Vs @ volume, (the oquation A.r eV is dimensionally comrect if m equals:
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Assume that you were arving with a con stant speed

nsiantanes

120 VS

100 kmvh

unknown




MKCL OES
. : Physics_Quiz1_Sem1_2019

olal questions n exam

Question No., 12 nnn
) With an accele nor3m gt e 1 Py f f

a=3 m/s/s
: vi=3 m/s
& vf=30 m/s
2 t=2

Vf=vi+at

-V -%



a=3 m/s/s
vi=3 m/s
vf= 30 m/s
t=?

Vf=vi+at
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A quantity that requires both magnitude and direction is called:

speed
scalar
mass

vector
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Question No. 25 nn

Ifrisalength, visa speed and ¢ is /K + 1t is dimensionally correct if k has the dimension of

time, the equation v
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Jueation No. 13

A length of 997 .8 mm is equal to:

0.09978 m
09978 m
99.78 m

9978 m




f the diameter of a human hairis 110 m

N \

icrometers, this equals to

Hint: 1 mm = 1000 micrometers)

0.1 mm
1.1 mm
0.0011 mm

0.011 mm
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Iwo forces are: (F1 =55 N, west) & (F2 = 33 N, north). The magnitude of their resultant (R)is:
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et Of 150 X ot 40 min OIS a A

A tramn traveling m A wtragit Mw at an ave e S§

min 40 Jg=9
delu J

@ 150 nn('*
@ 100k
@ 225 km
@ 275km

60min--->1h
40 min - - - >?

=2/3

Distance = speed x time

Distance = 150 x 2/3
Distance = 100


نحول 40 min 
إلى ساعة 

60 min - - - > 1 h
40 min - - - >? 

Distance = speed × time 

Distance = 150 × 2/3
Distance = 100

=2/3




